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Real Estate Financial Modeling 
– Certification Quiz Questions 

Module 2 – 4-Hour Office Development Modeling Test (100 Bishopsgate) 
 

1. You are working on an office/retail development model, and you have built a monthly 

tenant-by-tenant schedule that separates each tenant into 3 cases: the initial lease, the 

renewal lease, and the non-renewal case where a new tenant moves in upon lease 

expiration. 

 

As part of this process, you must determine the calendar months in which the tenant’s 

rent increases in each case. The formula for the rental escalation under the “initial lease” 

case is shown below: 

 

 
 

What is the PROBLEM with this formula? 

 

a. It’s incorrectly comparing the month of the lease start date, E45, to the previous 

month, BM35, rather than the current month, BN35. 

 

b. It does not handle the case when the lease is first starting and there’s no escalation 

in the first year. 
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c. It does not handle the case when the lease is expiring and there’s no escalation in its 

final month. 

 

d. None of the above – this formula is correct. 

 

2. Continuing on with the same model and schedule shown above, you are now reviewing 

the formulas for the Escalated Rents, i.e., Base Rents, paid by tenants in the initial, 

renewal, and non-renewal cases. The formula in the non-renewal case is shown below: 

 

This formula is similar to the ones in the initial and renewal cases, but it’s not exactly the 

same. 

Besides the different dates and the different escalation percentages, what is the MOST 

IMPORTANT DIFFERENCE in this formula for the non-renewal case? 

a. We do not need to check if we’re exactly in between the New Lease Start Date and 

New Lease Expiration Date here because the schedule is constrained to only 1 lease 

expiration per tenant. 
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b. During the Downtime period in this case, the Escalated Rent equals the Market Rent 

(so it can later be reversed in the Absorption & Turnover Vacancy line). 

 

c. We need to check that the current month is 1 month *after* the lease start date 

here due to the Downtime period; in the other cases, we just check that the current 

month is sometime after the lease start date. 

 

d. In this case, the first rental escalation always occurs *1 year* after the initial lease 

has expired, but in the renewal case, it’s *1 month* after the initial lease has 

expired. 

 

3. Continuing with the same schedule, the formula for Concessions & Free Rent, which 

includes the initial, renewal, and non-renewal cases in the same cell, is shown below: 

 

What is the PROBLEM with this formula? 

a. This formula does not handle the Rent-Free Months in the renewal case correctly 

because it reverses the Base Rental Income rather than the Market Rent. 

 

b. This formula assumes that if the tenant renews its lease, the Rent-Free Months 

happen immediately after, which may or may not be the case. 

 

c. This formula does not factor in the Downtime period that usually follows lease 

expiration in the non-renewal case. 

 



 
 
 
 

 
 

4 of 7  https://breakingintowallstreet.com 

d. There is no problem – this formula is correct. 

 

4. Continuing with the same development model, you are now reviewing the Waterfall 

Returns Schedule in different cases. 

The cash flows are split 87.5% / 12.5% between the Investor and Developers up to a 15% 

Total Equity IRR, 77.5% / 22.5% between a 15% Total Equity IRR and 2x Total Equity 

Multiple, and 67.5% / 32.5% above a 2x Total Equity Multiple. 

A screenshot of the EXIT MONTH in this model is shown below: 

 

The “Ending Balance” is 0 in Tier 1, but positive in Tier 2. What does this result mean? 

a. The Total Equity IRR is above 15%, but the Total Equity Multiple is below 2x. 

 

b. It doesn’t have a specific meaning since this is a mixed IRR and multiple-based 

Waterfall Schedule, where the returns might not fall within these ranges. 
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c. If we deleted the Tier 1 Accrual Distribution from Tier 2, this result would mean that 

the Total Equity IRR is above 15% but the Total Equity Multiple is below 2x. 

 

d. The Total Equity IRR is above 15%, but there is insufficient cash flow for the Investor 

and Developer to earn 2x multiples because of the Preferred Return earlier on. 

 

e. We can’t say anything because it appears that this schedule is set up incorrectly – 

the Investor Accruals is positive each month in Tier 1, but 0 each month in Tier 2. 

 

5. This same Waterfall Returns Schedule also includes a “Lookback Provision,” which states 

that if the Investor does not earn at least a 20% IRR, but the Developers do, then the 

Developers must redistribute their proceeds to the Investor until the Investor earns a 20% 

IRR, or as high an IRR as possible with the proceeds available. 

The VBA code for this Lookback function, which is based on named cells and named 

ranges in the Excel file, is shown below: 

 

What is the PROBLEM with this function that could cause it to work incorrectly in specific 

cases? 

a. In the beginning, we should not clear the applicable range of cells 

(“Lookback_Range”) because doing so will remove the required data. 
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b. We need to check if the Investor and Developer IRRs have been calculated before 

we use the .Value command – otherwise, we could get an error with the “<” and “>” 

operators. 

 

c. We are not checking for the case where the Developer Proceeds On Exit are negative 

rather than positive or 0. 

 

d. We are not checking for the case where the required Lookback is greater than the 

Developer Proceeds On Exit, in which case we cannot redistribute the full Lookback 

amount. 

 

e. None of the above – this function is correct. 

 

6. You calculate the returns to the Mezzanine Investors in this deal (10% Mezzanine LTV and 

60% Senior Loan LTV when the refinancing takes place upon construction completion), 

and you get the following results for the IRRs: 

 

How is it possible for the Mezzanine Investors to earn the *highest* IRRs in the Downside 

Case of the model? 

a. This should never happen, so it indicates that the operational assumptions are 

wrong or the model is set up incorrectly. 

 

b. It’s possible if there’s an Equity Grant to the Mezzanine Investors and the property 

value upon permanent loan refinancing is much lower in the Downside Case. 

 

c. It’s possible if the Mezzanine Interest is 100% Paid-In-Kind (PIK) or Accrued, meaning 

that the returns are far more dependent on the exit. 

 

d. It’s possible because of the Prepayment Penalty – if the exit occurs before the 

Mezzanine Maturity, the Mezzanine Investors will earn more. 
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e. It’s possible if there’s insufficient cash flow to pay for the Prepayment Penalty and 

other exit fees in the Base and Upside Cases, but not in the Downside Case. 

 

7. The returns sensitivities for the Equity Investor and Developers are shown below. Based 

on these tables, what might you recommend to improve this deal’s performance? 

 

a. Exit as early as possible, or sell off the Equity stake gradually, starting in an earlier 

month. 

 

b. Negotiate to remove the Lookback Provision if it will result in higher IRRs for the 

Developers in the Downside Case. 

 

c. Negotiate for longer-term leases with tenants to make the property’s NOI more 

stable over time, especially in the Downside Case – even if it means higher 

Concessions or lower rental escalations. 

 

d. Use a lower Permanent Loan LTV for the deal, which will reduce the IRRs in the Base 

and Upside Cases but boost them in the Downside Case. 

 

e. All of the above. 


